a) ﬁ=(—3 2,-5-4;-1-6) = (-5-9;-7);

C:%E (-2,5:—4,5,-3,5).

6) [AB|=(-5)" + (-9 + (-7)" =
=+/25+81+49 =+/155.

a)b=2-T+0-]-1-k =(2,0;-1);
|5|=\/22 +0%+(-1)? =+/5;

cos(£(a;b) = cos30° = %
ab _v3_ ab _V3_
a-p| 2 5 2
2
0)a=(x;y;z);da-b=2x+0-y-z=2x-12;
2x—z=¥;

a|=y/x* +y?+2° =5=x2+y?+72=5;
2b-a=(4-x0-y;-2—-12);
‘25—5‘=\/(4—x)2+(—y)2 +(-2-2) =X* —8X+16+ Y2 + 22 + 47+ 4 =

= X2 +y2 472 —8Xx+42+20=./25-4(2x—2) = 25-4-?:425—10\/5.

\zﬁ—a\ ~/25-10+/3.



ilbeada-bh=0c1-X-4-2+45-4=0&

S X-8+20=0<= x=-12.

BC =(0-2:4— (-2);-4—2) = (-2,6;-6);
CA=(1-0;-3- 43— (-4) = (L-T;7);
BC-CA=-2-1+6-(-7)—6-7=-2-42—42=-86;
‘B_Cf‘ = J(-2)? +6% + (-6)% =/4+36+36 =/76 =219 ;

‘ﬁ‘\/lz 4 (=7)2 + 7% =+/99 = 311 ;

BC-CA 8 43
BC|[cAl  2J19-3J11 3209

cos(z(ﬁf; a&) =

— 43
/(BC:CA) =arccos| — ~arccos(-0,99) ~172°.
(BECA) ( 3@) (0:59)
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